UNITARY METHOD

Q1)- If 3 pencils cost T 0.30, what is the cost of 5 pencils?
Q2)- If 2 apples weigh 200 grams, what will 5 apples weigh?
Q3)- If a bus travels 60 km/h, how far can it go in 3 hours?

Q4)- If 4 bottles of juice cost T2, how much do 6 bottles
cost?

Q5)- If a book has 200 pages, how many pages are in
5 books?

Q6)- If a car travels 40 km with 4 liters of fuel, how far can it
go with 6 liters?

Q7)- If 5 packets of biscuits weigh 250 grams, what is the
weight of 3 packets?

Q8)- If a shopkeeper sells 8 chocolates for ¥4, what is the
cost of 12 chocolates?

Q9)- Select the better buy in terms of price
Classic Pizza Veggie Pizza
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UNITARY METHOD

ANSWERS

Ans-1) The cost of 5 pencils is T 0.50.
Ans-2) The weight of 5 apples would be 500 grams.

Ans-3) The bus can travel 180 kilometers in 3 hours at a
speed of 60 km/h.

Ans-4) 6 bottles of juice would cost Z3.

Ans-5) There would be 1000 pages in 5 books.

Ans-6) The car can travel 60 kilometers with 6 liters of fuel.

Ans-7) The weight of 3 packets of biscuits is 150 grams.
Ans-8) The cost of 12 chocolates would be Z6.

Ans-9) Veggie Pizza
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